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�� (1*$*(0(17� 
^ƚƵĚĞŶƚƐ�ƐŚŽǁ�ŐƌĞĂƚĞƌ�ůĞǀĞůƐ�ŽĨ�ĞŶŐĂŐĞŵĞŶƚ�ĂŶĚ�ŵŽƟǀĂƟŽŶ�
ǁŚĞŶ� ǁŽƌŬŝŶŐ� ŝŶ� ĂŶ� ĞůĞĐƚƌŽŶŝĐ� ĨŽƌŵĂƚ͘� /ŶĨŽƌŵĂƟŽŶ� ĂŶĚ�
ƉƌĞƐĞŶƚĂƟŽŶƐ�ĐĂŶ�ďĞ�ĚĞůŝǀĞƌĞĚ�ŝŶ�Ă�ƌĂŶŐĞ�ŽĨ�ŵƵůƟŵĞĚŝĂ�ĨŽƌͲ
ŵĂƚƐ͘�tĞ�ŚĂǀĞ� ĞǆƉĞƌŝĞŶĐĞĚ� ŚŝŐŚ� ůĞǀĞůƐ�ŽĨ�ǁƌŝƩĞŶ� ůĂŶŐƵĂŐĞ�
ĨƌŽŵ� ƐƚƵĚĞŶƚƐ� ǁŚĞŶ� ƚŚĞǇ� ǁŽƌŬ� ĚŝƌĞĐƚůǇ� ŽŶ� ƚŚĞ� ĐŽŵƉƵƚĞƌ͘�
^ƚƵĚĞŶƚƐ� ĞǆƉƌĞƐƐ� ƚŚĂƚ� ƚŚĞǇ� ĐĂŶ� ĨŽĐƵƐ� ŽŶ� ƚŚĞ� ůĂŶŐƵĂŐĞ� ƌĞͲ
ƋƵŝƌĞĚ�ƌĂƚŚĞƌ�ƚŚĂŶ�ƚŚĞ�ŶĞĞĚ�ƚŽ�ƉƌĞƐĞŶƚ�ǁŽƌŬ�ŶĞĂƚůǇ͘� 
 

���$87+(17,&�$8',(1&(� 
WƌĞƐĞŶƟŶŐ�ǁŽƌŬ�ŽŶ-ůŝŶĞ�ĂůůŽǁƐ�ĨŽƌ�ĂŶ�ĂƵƚŚĞŶƟĐ�ĂƵĚŝĞŶĐĞ�ĨŽƌ�
ƐƚƵĚĞŶƚƐ�ǁŽƌŬ͘�/ŶƐƚĞĂĚ�ŽĨ�ƚŚĞŝƌ�ǁŽƌŬ�ƌĞŵĂŝŶŝŶŐ�Ăƚ�ƐĐŚŽŽů͕�ŝŶ�
ƚŚĞŝƌ�ďŽŽŬƐ͕�ŝŶ�ƚŚĞŝƌ�ĚĞƐŬƐ͕�ǁŽƌŬ�ĐĂŶ�ďĞ�ƐŚĂƌĞĚ�ǁŝƚŚ�ƉĞŽƉůĞ�
ĨƌŽŵ�ĂƌŽƵŶĚ�ƚŚĞ�ǁŽƌůĚ͘�/ŶĨŽƌŵĂƟŽŶ�ĐĂŶ�ĂůƐŽ�ďĞ�ŐĂƚŚĞƌĞĚ�
ĨƌŽŵ�ĞǆƉĞƌƚƐ�ĂƌŽƵŶĚ�ƚŚĞ�ǁŽƌůĚ�ƉƌŽǀŝĚŝŶŐ�ƐƚƵĚĞŶƚƐ�ǁŝƚŚ�Ă�
ǁĞĂůƚŚ�ŽĨ�ŝŶĨŽƌŵĂƟŽŶ�ĂŶĚ�ĐŽŶƚĞǆƚƐ͘� 
 

���/($51,1*�%(<21'�7+(�&/$665220�:$//6� 
�->ĞĂƌŶŝŶŐ�ĂůůŽǁƐ�ĨŽƌ�ƐƚƵĚĞŶƚƐ�ƚŽ�ĐŽŶƟŶƵĞ�ůĞĂƌŶŝŶŐ�ďĞǇŽŶĚ�
ƚŚĞ�ĐůĂƐƐƌŽŽŵ͘�^ƚƵĚĞŶƚƐ�ĐĂŶ�ǁŽƌŬ�ŽŶ�Ă�ƌĂŶŐĞ�ŽĨ�ĂĐƟǀŝƟĞƐ�ĂŶĚ�
ƉƌĞƐĞŶƚ�ŝŶĨŽƌŵĂƟŽŶ�ŝŶ�Ă�ǀĂƌŝĞƚǇ�ŽĨ�ĨŽƌŵĂƚƐ͘� 
 
���)(('%$&.� 
�->ĞĂƌŶŝŶŐ�ĂůůŽǁƐ�ƐƚƵĚĞŶƚƐ�ƚŽ�ƌĞĐĞŝǀĞ�ŝŶƐƚĂŶƚ�ĨĞĞĚďĂĐŬ�ĂďŽƵƚ�
ƚŚĞŝƌ�ůĞĂƌŶŝŶŐ�ĂŶĚ�ŶĞǆƚ�ƐƚĞƉƐ�ĨŽƌ�ĚĞǀĞůŽƉŵĞŶƚ͘�dŚŝƐ�ĨĞĞĚďĂĐŬ�
ĐŽƵůĚ�ďĞ�ĨƌŽŵ�ƚŚĞŝƌ�ƉĞĞƌƐ͕�ƚĞĂĐŚĞƌƐ�͕�ƉĂƌĞŶƚƐ�Žƌ�ĞǀĞŶ�ĨĂŵŝůǇ�
ĨƌŽŵ�ĂƌŽƵŶĚ�ƚŚĞ�ǁŽƌůĚ͘� 
 
���21/,1(�5(6285&(6� 
�->ĞĂƌŶŝŶŐ�ĂůůŽǁƐ�ĨŽƌ�ƚŚĞ�ƵƐĞ�ŽĨ�Ă�ŚƵŐĞ�ƌĂŶŐĞ�ŽĨ�ŽŶůŝŶĞ�ƌĞͲ
ƐŽƵƌĐĞƐ͘�dŚĞƐĞ�ĐŽƵůĚ�ďĞ�ǀŝĚĞŽ�ƚƵƚŽƌŝĂůƐ͕�ǁĞď�ƐŝƚĞƐ͕�ŝŶƚĞƌĂĐƟǀĞ�
ŐĂŵĞƐ͕�ƚŚĞ�ůŝƐƚ�ŝƐ�ĞŶĚůĞƐƐ͊��ǀĞƌǇŽŶĞ�ŚĂƐ�ĞƋƵĂů�ĂĐĐĞƐƐ�ƚŽ�ŝŶĨŽƌͲ
ŵĂƟŽŶ�ĂŶĚ�Ăƚ�ƚŚĞ�ƐĂŵĞ�ƟŵĞ͘� 

),9( 

$&&(66��-�6,1*/(�86(�-�+20(���6&+22/�-�/2&$7,21�-�5(63216,%,/,7< 

),9(�%(1(),76�2)�678'(176 
2:1,1*�&+520(%22.6 

 

�� ,1&5($6('�$&&(66� 
,ĂǀŝŶŐ�ƚŚĞŝƌ�ŽǁŶ��ŚƌŽŵĞďŽŽŬ�ŝŶĐƌĞĂƐĞƐ�ĂĐĐĞƐƐ�ƚŽ�ƚŚĞ�
�ŚƌŽŵĞďŽŽŬ�ďŽƚŚ�Ăƚ�ƐĐŚŽŽů�ĂƐ�ǁĞůů�ĂƐ�ŚŽŵĞ͘�dŚŝƐ�
ǁŽƵůĚ�ĂůƐŽ�ĂůůŽǁ��ŚƌŽŵĞďŽŽŬƐ�ƚŽ�ďĞ�ŝŶƚĞŐƌĂƚĞĚ�ŝŶƚŽ�Ăůů���������
ĐůĂƐƐƌŽŽŵ�ůĞƐƐŽŶƐ�ĂĐƌŽƐƐ�ƚŚĞ�ĐƵƌƌŝĐƵůƵŵ͘� 
 
���������6,1*/(��86( 
,ĂǀŝŶŐ�ƚŚĞŝƌ�ŽǁŶ��ŚƌŽŵĞďŽŽŬ�ĂůůŽǁƐ�ƐƚƵĚĞŶƚƐ�ƚŽ�ƐĂǀĞ�����
Ăůů�ƚŚĞŝƌ�ǁŽƌŬ�ŝŶ�ƚŚĞ�ĐůŽƵĚ�͘�dŚĞƌĞĨŽƌĞ�ĂůůŽǁŝŶŐ�ƚŚĞŵ�ƚŽ�
ĂĐĐĞƐƐ�ƉŚŽƚŽƐ͕�ĮůĞƐ͕�ĞƚĐ͘�ƌĂƚŚĞƌ�ƚŚĂŶ�ŚĂǀŝŶŐ�ƚŽ�ƐĞĂƌĐŚ�
ƚŚĞ�ŶĞƚǁŽƌŬ�ƚŽ�ĮŶĚ�ĮůĞƐ͘��ŽŵƉƵƚĞƌƐ�ĂƌĞ�ŬĞƉƚ�ƉĞƌƐŽŶĂů�
ƚŽ�ƚŚĞŵ͘ 
 
��������+20(���6&+22/�/,1. 
tŝůů�ĂůůŽǁ�ƉĂƌĞŶƚƐ�ĂĐĐĞƐƐ�ƚŽ�ƐĞĞ�ǁŚĂƚ�ƐƚƵĚĞŶƚƐ�ĂƌĞ�
ůĞĂƌŶŝŶŐ�ĂŶĚ�ŚŽǁ�ƚŚĞǇ�ĂƌĞ�ƉƌŽŐƌĞƐƐŝŶŐ͘�/ŶƐƚĞĂĚ�ŽĨ�
ďŽŽŬƐ�ƐƚĂǇŝŶŐ�ŝŶ�ĐŚŝůĚƌĞŶ͛Ɛ�ƚƌĂǇƐ͕��ƉĂƌĞŶƚƐ�ĐĂŶ�ƐĞĞ�ǁŚĂƚ�
ƐƚƵĚĞŶƚƐ�ĂƌĞ�ĚŽŝŶŐ�Ăƚ�ƐĐŚŽŽů�ǀŝĂ�ƚŚĞ�ĐŽŵƉƵƚĞƌ͘ 
 
�� /2&$7,21 
>ĞĂƌŶŝŶŐ�ŝƐ�ŶŽƚ�ƌĞƐƚƌŝĐƚĞĚ�ƚŽ�ƚŚĞ�ĐůĂƐƐƌŽŽŵ͘��^ƚƵĚĞŶƚƐ�
ĐĂŶ�ĂĐĐĞƐƐ�ŽŶůŝŶĞ�ŚŽŵĞǁŽƌŬ͕�ƌĞĂĚŝŶŐ�ĂĐƟǀŝƟĞƐ͕�ŵĂƚŚƐ�
ĂĐƟǀŝƟĞƐ�ŝŶ�ƚŚĞ�ĐůĂƐƐƌŽŽŵ͕�ůŝďƌĂƌǇ͕�Ăƚ�ŚŽŵĞ͕�ĞƚĐ 
 
��������5(63216,%,/,7<� 
�ĞŝŶŐ�ƌĞƐƉŽŶƐŝďůĞ�ŽŶůŝŶĞ�ƵƐĞƌƐ�ŝƐ�Ă�ǀŝƚĂů�ůĞƐƐŽŶ�ƚŽ�ůĞĂƌŶ͘�
dŚĞ�ŽŶůŝŶĞ�ĞŶǀŝƌŽŶŵĞŶƚ��ǁŝůů�ďĞ�ͬ�ŝƐ�Ă�ƐŝŐŶŝĮĐĂŶƚ�ƉĂƌƚ�ŽĨ�
ƚŚĞƐĞ�ĐŚŝůĚƌĞŶ͛Ɛ�ůŝǀĞƐ͘�>ĞĂŶŝŶŐ�ƚŽ�ďĞ�ƌĞƐƉŽŶƐŝďůĞ�ĨŽƌ�ƚŚĞ�
ĞƋƵŝƉŵĞŶƚ�ŝƐ�ĂůƐŽ�Ă�ŝŵƉŽƌƚĂŶƚ�ůĞƐƐŽŶ�ĨŽƌ�ĐŚŝůĚƌĞŶ�ƚŽ�
ůĞĂƌŶ͘�>ĞĂƌŶŝŶŐ�ƚŚĞ�ǀĂůƵĞ��ŽĨ�ƐŽŵĞƚŚŝŶŐ͘� 


